

*** Invoice

Invoice No:

011983

Invoice Date: 01/07/2021

Order No: Customer:

Visit the link below to manage your communication preferences

Website Link: https://optly.com/mCrMwtrG

<u>Labour</u>	Quantity_]	Rate—	-Net
Carried out vehicle checkover, lights, levels and safety check.	a.so	85.00	42.50
Replaced dead battery.	0.30	85.00	25.50
	Sub Total		68.00
Parts Battery Bosch s5 008 77AH 911/964/993	1.00 1	68.48	168.48
	Sub Total		168.48

Vehicle:

TRJ828R

Make:

Porsche USA Spee 911 2.7 Coupe

VIN:

9117201522

Mileage:

67054

Technician:

BANK:

HSBC BANK

SORT CODE:

40-45-32

ACCOUNT NO: 01525360

Part numbers used for internal reference only

Invoice Totals

Desaiption Amount Vatable Items 236.48 VAT@20.0% 47.30 Zero Rated Items 0.00 **Total Invoice Value**

This cash invoice is due for payment

Address: Unit B1, Bluebell Business Estate, Sheffield Park, Uclcfield, East Sussex, TN22 3HQ I Phone: +44 (0) 1825 721 205 Email: info@precisionporsche.co.uk I Web: www.precisionporsche.co.uk











283.78



Invoice No:

009171

Quantity Rate

2.00

Sub Total

12.50

Invoice Date: 26/04/2019

Order No: Customer:

Visitthe linkbelow to manage your communication preferences
Website Link: https://aptly.com/mCrMwtrG

Number plate white/Yellow Standard PP (Each plate)

Page 1 of 2

<u>Net</u>

25.00

44.70

<u>,Labour</u>			
Removed rear exhaust box to gain access to remove bumper	2.00	85.00	170.00
over-riders. Wired in new LED lights as old ones fit to over riders. Fitted UK type rear number plate and re-installed	•		
exhaust box with new gaskets, check light operation.			
Removed front number plate holder and fitted UK type front			
number plate.			
cleaned and machined polished rear bumper area.			
	Sub Total.		170.00
<u>Parts</u>			
LED Number plate light (Set of 2)	1.00	9.80	9.80
90111119300 Exhaust gasket HE-SI	2.00	4.95	9.90

Continued on the next page

Address: Unit 81, Bluebell Business Estate, Sheffield Park, Uckfield, East Sussex, TN22 3HQ Phone: +44 (O) 1825 721 205 Email: info@precisionporsche.co.uk













*** Invoice

Invoice No: 009171 26/04/2019

Invoice Date: Order No: Customer:

Visit the link below to manage your communication preferences

Website Link: https://optly.com/mCrMwtrG

Page 2 of 2

Vehicle:

TRJ828R

Make:

Porsche USA Spee 911 2.7 Coupe

VIN:

9117201522

Mileage:

67024

Technician: G.OWEN

BANK:

HSBC BANK

SORT CODE: 40-45-32

ACCOUNT NO: 01525360

Part numbers used for internal reference only

Quantity Rate	Net
Invoice Totals	
Description	<u>Amount</u>
Vatable Items	214.70
VAT@20.00%	42.94
Zero Rated Items	0.00
Total Invoice Value	257.64

This cash invoice is due for payment

Address: Unit B1, Bluebell Business Estate, Sheffield Park, Uckfield, East Sussex, TN22 3HQ | Phone: +44 (0) 1825 72 205 Email: info@precisionporsche.co.uk | Web: www.precisionporsche.co.uk













Invoice No:

008412

Invoice Date:

18/09/2018

Order No:

Customer:

Visit the link below to manage your communication preferences

Website Link: https://optly.com/mCrMwtrG

Labour	Quantity	Rate :	Page 1 of 5 <u>Net</u>
Looked over for possible transit damage.	0.80	85.00	68.00
Removed and cleaned fuse board from under bonnet, replaced fuses as required and check system operational functions. Located wiper motor is not fully fixed to chassis, replaced bolts as required and check operation.	2.00	85.00	170.00
	Sub Total		238.00
Parts N0171211 Ceramic fuse 8 amp N0171214 ceramic fuse 16 amp	4.00 4.00	0.35 0.35	1.40 1.40
	Sub Total		2 80
Labour Replaced USA headlamps'with right hand drive headlamps and rewire side lamps into headlamp units, replaced bulbs as required and replaced rear lamp lenses with amber indicator bulbs.	3.15	85.00	267.75
	Sub Total		267.75
Parts 91163111200 Headlight assembly kit H4 99963120290 Bulb 12v 60/SSw H4 91163111502 Headlight trim to body seal 90063112790 Bulb 12v 21w	1.00 2.00 2.00 1.00	525.10 17.74 6.10 1.41	525.10 35.48 12.20 1.41
Con) in Prf on the next page			





Phone

+44 (0) 1825 721 205

Unit BI, Bluebell Business Estate

Sheffield Parle, Uckfield

East Sussex TN22 3HQ

I Web

info@precisionporsche.co.ulc www.precisionporsche.co.ulc

+44 (0) 1825 723 807

Fax



Invoice No:

008412

Invoice Date:

18/09/2018

Order No: Customer:

Visit the link below to manage your communication preferences
Website Link: https://optly.com/mCrMwtrG

Page	2	of	5
. ~5~	_	0.	_

Net

91163195000	Rear	light lens	(Black)	RH
91163194901				
90063110390	Bulb	12v 4w		

1.00	45.60	45.60
1.00	45.60	45.60
2.00	0.95	1.90

Quantity Rate

Sub Total	667.2

Labour

911 Rear trailing arm spring plate bush replacement

Removed and replaced rear spring plate bush set. cleaned off corrosion to spring plates. carried out ride height adjustment.

May require four-wheel alignment

8.00	85.00	680.00

<u>Parts</u>

97330661 Trailing arm (spring plate) outer bush set 90133315300 Rear trailing arm (spring plate) cover

1.00	57.90	57.90
2.00	40.03	80.06

Sub Total

Sub Total	137.96

<u>Labour</u>

Wheel Alignment: Four wheel

Removed front torsion bars and cleaned off rust and repainted black, Freed off adjuster bolts and caps and set

4.00 85.00

340.00

680,00

Continued on the next page

Unit BI, Bluebell Business Estate Sheffield Park, Uckfield East Sussex TN22 3HQ

Phone +44 (0) 1825 721 205

Fax +44 (0) 1825 723 807 I Web info@precisionporsche.co.uk www.precisionporsche.co.uk









Invoice Na: 008412

Invoice Date: 18/09/2018

Order No: Customer:

Visit the link below to manage your communication preferences

Website Link https://aptly.com/mQMwtrG

			Page 3 of 5
ride heights correctly to u.K. specifications, road tested to settle and carried out further minor adjustments.	Quantity	<u>Rate</u>	ivec
checked and adjusted four wheel alignment. checked suspension performance and steering wheel alignment after repair.	1.00	150.00	150.00
	Sub Total		490.00
Parts 90134147500 Front torsion bar to crossmember gasket	2.00	273	5.46
	Sub Total		5.46
<u>Labour</u> cleaned off all rust, prepared underside and undersealed whole floor area to protect.	1.00	85.00	85.00
•	Sub Total		85.00
<u>Parts</u> sc Teroson 554772650 5B3120 underseal Black 500Ml	3.00	13.55	40.65
sc Tectyl ML wax spray treatment	1.00	11.50	11.50
	Sub Total		52.15
<u>Labour</u> Replaced right hand door mirror glass.	0.20	85.00	17.00

Cont'nuerl on the next page

Unit BI. Bluebell Business Estate Sheffield Park, Uckfield East Sussex TN22 3HQ

Phone +44 (0) 1825 721 205

Fax +44 (0) 1825 723 807 | Web info@precisionporsche.co.uk www.precisionporsche.co.ul







Invoice No: 008412
Invoice Date: 18/09/2018

Order No: Customer:

Visit the link below to manage your communication preferences

Website Link: https://optly.com/mCrMwtrG

Page 4 of 5

	Quantity	Rate	Net
	Sub Total		17.00
Parts 91173103509 Door mirror (flag) glass (convex)	1.00	68.45	68.45
	Sub Total		68.45
Fuel added to vehicle UL			
Parts Fuel added to vehicle	1.00	32.98	32.98
	Sub Total) Spilled	32.98
<u>Labour</u> Adjusted exhaust emissions to meet U.K. limits.	0.50	85.00	42. 50
	Sub Total		42.50
MOT Test MOT test of vehicle. Passed test.	1.00	54.85	54.85
	Sub Total		54.85

MOT EXPIRES 17/09/2019

Confi2 $_{\rm e}$ &n the next page ••••

Unit BI, Bluebell Business Estate Sheffield Parle, Uckfield East Sussex TN22 3HQ

Phone +44 (0) 1825 721 205 Fax +44 (0) 1825 723 807 I Web info@precisionporsche.co.uk www.precisionporsche.co.ulc











Invoice No:

008412

Invoice Date:

18/09/2018

Order No:

Customer:

Visit the link below to manage your communication

preferences

Website Link: https://optly.com/mCrMwtrG

Page 5 of 5

Quantity Rate

Net

9115 2.7 LHD Vehicle:

Make:

Porsche USA Spee 911 2.7 Coupe

VIN:

9117201522

Mileage:

67024

Technician: I.FLORENCE

BANK:

HSBC BANK

SORT CODE: 40-45-32

ACCOUNT NO: 01525360

Part numbers used for internal reference only

Address

Unit BI, Bluebell Business Estate Sheffield Parle, Uclcfield East Sussex TN22 JHQ

Phone

+44 (0) 1825 721 205

Fax +44 (0) 1825 723 807 **Invoice Totals**

Description **Amount** Vatable Items 2,787.34

VAT@20.00% 557.47 Zero Rated Items 54.85

Total Invoice Value 3,399.66

This cash invoice is due for payment

info@precisionporsche.co.uk www.precisionporsche.co.ulc



